24 - 27 February 2017
100 minutes

SOLUTIONS

Fillomino (lvan Laptiev)
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Answer key A: 16614, B: 66914, C: 2299999, D: 44499

Tapa (Andrey Bogdanov)

Answer key A: 112311, B: 12132, C: 1113111, D: 31311

Light Garlands (Ivan Laptiev)

Answer key A: 341567, B: 845921312706




Hidoku (lvan Laptiev)
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Answer key A : 1836923, B: 4674506, C: 12147678, D: 79343790
Hitori (Andrey Bogdanov)
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Answer key A : 121113, B: 141111, C: 121312, D: 151111
Skyscrapers (lvan Laptiev)
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Answer key A : 245613, B: 651324, C:

6314275, D: 1657324




Sudoku (lvan Laptiev)
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Answer key A : 126435, B: 265341, C: 62381574, D: 41257863

Samurai Sudoku (lvan Laptiev)

Answer key A : 126435, B: 564123546, C: 546231




